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" PART-I: GENERALENGLISH

What made the people think the Potter was humble?

(1) Hebowedtoallthe people -. . '

(2) Hewalked to the palace without climbing the horse
(3) Heobeyed the tiger SR

(4) Heliked to be the general of the Army

™

Will you try out this problem for me? (Identify the expression)
(1) giving permission - (2) seeking permission
(3) seekinghelp — (4) suggestion

Mrs. Slater was a Vigorous woman with straight talking. _
“What is the part of speech of the underlined word? :
(1) Noun (2) Adverb - (3) Preposition  (4) Adjective

‘What was the transformation brought by Wangari Maathai in women?
(1)  She taught them to collect wood in the forest.

(2) Sheprovided all the basic needs for them. - _

{(3) She made the women feel confident and independent.

(4) _Sheinvolved them in war and conflict. "

What did Roberge find in ray when he refused to spoil the reputation of the culprit?
(1) -humane concern © (2) aggressive approach

(3) intimidating _ (4) hatred and discontent -

When Gopal I(reach) the temple, it _ (be) filled with devotees.
(1) reached;is ‘ (2) reached, had been '
(3) reach,was . - - (4) reached,be

=

Ganesh plays cricket. He plays chess too.

(Combine the sentences with ‘not only-but also’)

(1) Ganesh plays not only cricket but also he plays chess.
(2) Ganesh plays not only cricket but chess also. -

(3) Ganesh plays not only cricket but also chess.

(4) Ganesh likes cricket not only, but also he plays chess. .

&

.. a)
A @, ®).d

“Which are the *Alliteratives’ among the following. : -
easy-peasy mish-mash ¢) helter-skelter d) ting-tong
)

ha

b) ;
(2) (b),(c), (d) (3) (b)and(d) (4) (c)and(d)

- Why was the young teacher sumnoned by Lakshmana Sastry?

(1) The young teacher was new to school.

(2) Because he wanted to see the young teacher. . ‘

(3) . Because the young teacher tried to poison the minds of children on religious differences.
(4) Because the young teacher did not have accommodation in the village. :

10. How do we start a letter in ‘ALETTER TO AFRIEND”?

(1) Signature (2) Subscription (3) - Salutation (4) Station and date
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You keep this money. It may be a help for you.
(Combine using ‘if’) L
(1) Ifyoukeep this money, it may be a help for you.
(2) You keep this money, if it may be a help for you.
(3) Ifyoukeep this money, it may not help you. '
. -(4) Ifyouhelp me,keep this money. :
12, Wheré can I get a few stationery items? (Change into Polite request)
(1) Where is the stationery shop? . B '
(2) Please give us some stationery items. e
(3) Could you please let me know where I can get a few stationery items? -
(4) Getme a few stationery items. S ‘
13. Which of the following have a concluding remarks in creative expression? _
-+ (1) Diaryentry - (2) Aspeech (3) Conversation (4) Allthe above
"14. Identify the correct senterice. | ' ' o
(1) There isn’t enough food for all the invitees.
(2) Thereisn’t food enough for all the invitees. -
"(3) There is food for all the enough invitees.
(4) There is enough food for all the enough invitees.
15. Inwhich of the following letters, is the subject specifically mentioned?
(1) Letter to friend . N (2) Letter to mother
(3) Letter to uncle ' (4) Complaint letter -
'16. A biographical sketchis_ ’ .
(1) the life history of one self. . ; R
(2) the life history of-others. _ o o
(3) the history of great kings. - | '
~ (4) the life history of assassinated personalities. _
17. Mrs. Jordanisa woman, (Choose a right word that fits to Mrs. Jordan’s character) -
(1) complacent (2) greedy . - (3) mildandsober (4) (1)and(2)
' 18, What was the threat to Sunday Nana’s village? | - o S
(1) children and chickens (2) poisonous chemical drums
(3) skull and cross bones (4) the chief = |
19." Which of the senpencés given below is defining relative clause?
(1) Joy, who could not get a job, felt depressed. o
(2) Theman who was selling balloons was very old and weak.
(3) Rajani who lives next door, isa TV artist.
(4) Who is the world famous artist?
20. Identify the sentence that is in Present Perfect tense.

(1) Rupa has passed the test recently. (2) They had changed the residence address. =

(3) Gowri delivered a wonderful speech. (4) ~Childrenare making noise in the class.
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Question No. 21 to 25 : Read the following passage and answer the questions.”

There was a small village called Sonam. There was a young girl named Ema. Ema loved to
explore the meadows and woods around her home. Everyday, she would discover new and exciting
things in nature.

- One Sunny morning, while Ema was wandermg near a stream, she spotted a glimmering
stone. It was unlike any stone she had seen before, and it filled her with wonder. She decided to
show it to her grandparents who were wise and know about precious gems.

To Ema’s surprise, his grandparents revealed that the stone was a rare and valuable gemstone
called a sapphire. Ema’s heart was filled with joy, and she learned that sometimes, the most
precious treasures can be found in the simplest places.

21. Whatdid Ema discover while wandering near a stream?

(1) avillage ' . (2) meadows

(3) nature - (4) glimmering stone
22. Whorevealed the 1dent1ty of the glimmering stone to Ema? _

(1) grandparents (2) parents (3) neighbours  (4) friends
23. What did Ema find near the stream? . : B ,

(1) Asapphire (2) Apeard (3) Aseashell (4) Apebble
24. 'What did the grandparents reveal about the stone? .

. (1) Itwasararestone. (2) - Itwas avaluable stone.
- (3) Ttwasagem stone (4) Allthe above.

25. Which word in the. passage means ‘to disclose’?
(1) reveal (2) joy . (3) treasure ° (4) precious

26. What does Lincoln’s life teach us in the lesson -

‘Every success story is also a story of failures’
- (1) Success can be achieved only at 52.
(2) To succeed in life is very difficult..
(3) Arelentless hard work can give success.
(4) TFailure is not a stepping stone to success.

27. -Which among the following is an Advice?
- (1) You should not wear helmet while driving.
(2) Youshould consult a doctor for your ill health.
(3)' Come to my place for entertainment. .
(4) We should go to school late, shouldn’t we?
28. The crops grew well this year. We are happy with profits.
(Combine the sentences using “since’)
(1) Since we are happy with profits, the crops this year grew well.
© (2) Sincethe crops grew well this year, we are happy with profits.

(3) The crops since this year grew well, we h are happy this year.
(4) The crops this year grew well, we are happy since with proﬁts.

V-General Engllsh 5-E
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29,

“Iam sorry, [ cannot go with you” (Ident1fy the expressmn)
(1) Seeking permission ' (2) Refusing perm1ssron .

(3) Expressinginability - L~ (4) Expressmg fear

30.

Why did the house wife in the lesson ‘What is My Name’ forget her name?
(1) Because she made scrubbing and swabbing as the chief mission in her life.
(2) Because she became busy with her office work.

(3) - Because she lost her memory.
(4) Because her husband didn’t llke her name.

Al

- 31. Amanwholovesmankmd1s : . _ .
. (1) Superman (2) Phﬂanthroplst (3) Physwrst | (4) Fatalist
32. _ Fill in the blank with an indefinite pronoun. '
- is perfect in this world. - ’
(1) She ~ (2) Noone: ~ (3) Myself (4) He
33. Change the Voice. B : '
Guru started a new business.
(1) Anew business was started by Guru.
(2) Anew business has been started by Guru.
(3) Guruw’s new business was started. -
(4) - A pew business is being started by Guru.
‘34, Use the right Prepositional Phrases.
_bus strike, I will drop my trip to Mysore -
(1) Inspiteof (2) Instead of (3) Incaseof (4) Accordingto .
35. Ray wasan aloof and intimidating person for the outsiders.
' (Identify the synonym of the underlined) ' '
(1) frightening (2) encouraging  (3) intolerate (4) intellectual
36. Inthe poem ‘A plea for India’, what was the central theme? - -
. (1) Unending violence (2) Riots
~ (3)  Proudand Confident , (4) Unity"
37. He (give) an entrance test before he _(join) Air force.
(1) had give, entered _ (2) gave, enter
(3) had given, entered o (4) givenand entered
. 38. Savitri was awarded the title ‘Mahanati’ for her : :
"~ (1) good number of movies (2) for her successful direction
(3) for her humanity and generosity (4) for her unbeatable talent
39. What was the father’s urge to his son in ‘Once Upon A Time’?

(1) _ Father wants to shake hands with friends.
(2) Father wants to relearn how to laugh.

(3) Father wants to change faces according to the situation.
(4) Noneofthe above.
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40,

Which is NOT a correct statement about Abel Merry weather? -
(1) Abel Merry weather stayed some days with Amelia and a part of time with Elizabeth.
(2) Abel Merry weather announced his marriage with Johin Shorrocks. '

- (3) Abel Merry weather was dead.

4].

(4) Abel Merry weather wanted to change his will.

Veena is fond music.
(1) to : (2) of (3) by (4) with

42,

I haven’t got apples in my basket. |
(1) some . (2) each (3) any (4) every

43,

The Government has declared emeirgeﬁcy. (Change the voice)
(1) Emergency has been declared by the Government.
(2) Emergency is declared by the Government.

. (3) Emergency is being declared by the Government.
 (4) Emergency was declared by the Government.

44,

Some of the students scored fow marks in the Exams; __, theteacher arranged a
series of remedial classes. - - '

(1) sothat (2) because (3) in spite of (4) corsequently

45,
' . (1) Ramanatha Sastry ' - (2) Siva Subramania Iyer
~(3) Youngteacher ' (4) Kalam’s father

Who influenced Kalam in his childhood that changed his future?

46.

Narayana Murthy was by nature.
(1) selfish (2) malicious . (3) introvert (4) timid

47.

What does the poet wish to convey through the poem ‘Or Will the Dreamer Wake?’
(1) the desire to wake up the human being.

(2) the people’s reluctance towards the protection of animal world.

(3) theneed to stop the extinction of animals.
(4) alltheabove ‘

48.

What stopped the narrator from carrying his luggage? :
(1) thenarrators education (2) the narrators white collar job
(3) the narrators laziness _ - (4) (Dand(2)

49.

What is the one-word substitute for ‘A hand written document’?
(1) manuscript (2). mandocs
(3) newsitem (4) monologue

50.

The accident sadly resulted the death of a man.

(1) by 2) to @) in (@) into
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51.

PART - II BIOLOGY

Find out the events that occur in the grana of chloroplast
A)  Photolysis of water.
. B)  Trapping of solar energy.
- C)  Reduction of carbon dioxide into carbohydrates
D) Formation of ATP and NADPH. _ :
- (1) (A)and (B) N ) (C)and (D) -
(3) (A, (B)and (C) ‘ @) (A),(B)and (D) - |
- o ..édufLJJ».JU'L’JLb/_y‘@bgf(Grana)U/Z.uﬂLbuyg |
Sisdd
e @
' LfqubLkaLfJg Lf’/ldbu’ﬂf (o
S E{NADPELIATP (D
L D4 (@) N =) 2 [ I OV R
(DA, B) &) . OB 3
52. ‘Assertmn (A): Blood do not coagulate in the haemOphlha patients, when they are |
wounded.
Reason (R): Deficiency of haemoglobm in blood causes over bleedmg
(1)  (R) is the correct explanation for (A).
(2) (R)isnot the correct explanation for (A)
‘(3) . (A)is incorrect.
(4)  (A) and (R) are incorrect. '
: _br O lKuyu*uw*a_yJJu‘” /L(Haemophma)wf“ (A)df; |
..LJIJ,.»JK(over bleeding)? L/Lu_?ubd/ Ju" IS R)>
| SBecrbsan® (1)
S Ao lisen®)  (2)
cBi(A) ()
| U mR)HIA) (D)
53. - The chemical used to observe mitochondria of cells under microscope.

(1) Acetocarmine (2) Methylene Blue
(3) Safranm (4) . Diazine Green = - '
‘ ..r_'_u:l.d l/(UF: L.la U/dbv’f 2 LDJ![/‘L(MltOChOHdI‘Ia)MULUfl’c'z—JJGCu)' i
(Methylene Blue)}u"uﬂ (2) - Acetocarmine (1)
gl @ | Safranin  (3)
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54.  Match the following.
A .
i) Embryology
ii)  Genetics
i)  Geology
iv)  Palaeontology

Booklet Code
. B
a) Fossils
b) . Earth

¢) _ Inheritance - ‘
d) Deveiopment of adult from egg cell

. -.U’ U'Jf J )!-J-')
B A
K @ (Embryology)=b® (i
BNV O () - (Genetics) L (ii
: e (e : Ao (i
- UHLE Blec it | = (v
() (Db, (ii)-c, (iii)-a, (iv)-d . @) (i), (iD)-d, (iii)-c, (iv)-b
(3) ()-d, (i)-c, (iii)-b, (iv)-a @)  (i)-c, (ii)-a, (iii)-d, (1v) b
55. Which region of brain controls the hunger signals?
(1) Cerebrum (2) Mid Bram (3)  Cerebellum (4) Diencephalon
L _z'_t‘/UJ/“;(uUHLJJ‘(MDLJfKCLJ “
L (4) Elaikef 0’3 (3) Elsbs (2)(Cerebrum)6
56. Find out the correct statements.
- A)  Mitosis helps in growth and repair of body.
B)  Cell division occurs in the Interphase.
) Melgsg helps to retain same number of chromosomes in all somatic cells of
D) %uliIAore}I)llcatlon occurs in the S-phase. . o
(1) A)and(®B) (2) B)and(C) (3) (A)and (D) (4) (B) and (D)
o Y A Ll/.(‘;“’
..¢.L5/.cu’...//ﬂfl/3fb(()fy&) (A
_gdfdl:u‘é’_,//’/!f‘dd)b (B
...Ld/( WS wJUGJ Ju”,m/u*urbdwf"d"' (@
. ) —e(nlitde rZ(PIReplicationd DNA (D
DsIB) @ @A) @) ©s@) @ @K 1)
57.  The pyramid of biomass is inverted in
- (1)  Forest ecosystem (2)  Grass land ecosystem
(3)  Aquatic ecosystem ' (4) - Desert ecosystem .
| e S FSrndad dw‘gwdﬂu’ |
rwduiu{uwéuu’ ) cBdsdE: (1)
rLdeU:’Ld 7 4) cBdrdT @3)

'V-Biology
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58.  Fill up the blanks (a) and (b) : |
. The __ (a)__ could find their way into human beings through food chain. This
- (b)__ causes various phys1olog1cal disorders such as hypertensmn sporadic
fever renal damage, nausea etc., in us.
(1)-  (a) - Carbohydrates, (b) - ‘Calorie malnutrition
(2) (@) - Heavy metals, (b) - Bio accumulation
(3) (a) - Proteins, (b) - Protein malnutrition’
4 (a)- Protems and Fats, (b) - Protein, calorie malnutr1t10n

o | - 914 (b)J)’(a),«Gdla
UL QU T (b) Kulu*a_rd’bu*r) s @ 2l s
C ' u*dru’ﬂo/jd/uuﬂd»/cjl{ubwéf
,,wu"Lw (b) A - (1)

| /”;db (b} « u‘wd» -@ ).
S LA O @ O
LI 3 () Gzt @) @)

59. - Using energy-efficient, appliances in our house comes under wh1ch conservation method |

of 4R’s. :

(1) - Reduce (2)  Reuse (3) Recycle 6)! Recover o
e L7 AL AR S T L S e S U e e
(Reuse)dWU@ (2) (Reduce)uf ¢
(Recovery—Lit  (4) | . (Recycle)egsil  (3) -

60.  Growing of useful species along the road sides, field bunds and nalas is referred to

(D " Broad bed furrow land form (2)  Mixed crop meéthod

(3)  Contour planting (4)  Crop rotation .
..‘a_t'ﬂg( L{U/CUTMMls(fu»!/UJJU/Z:,U:JLJJUJ"JJU}'JUJJL-(LJ/ \
' UJK_/KL)V 2) ULJL:;JGJ%JJ ()
JJl_/lfu:L" (4) U6 Counter  (3)
61. Insects: Trachea: : Birds : '
{1) - Skin (2) Gills (3) Trachea . (4) Lungs .
, ie-ky i Trachea : ol >
4__y*f’§ 4) " Trachea (3) P 2 A
62. Name the dlgestwe juice involved in the emulsification of fats. o
(1)  Gastric juice (2) Bile juice - (3)  Saliva (4) Intestinal juice
_ab’?LKw(f" Lbri,«@u" (Emulsification)Jit- /d/u:’f
wGT @) < ) Unzg (2) Vs (1)

V-Biology - | | 10-E
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63.  Reabsorption of 75% water and useful components occur in
(1)  Glomerulus ~ (2) Proximal convoluted tubule
(3)  Loop of Henle (4) Distal convoluted tubule
| _¢m‘if,Jutuwuwfwduﬂ,ldtﬁ%-
ECgilg) @) C W
| (DCT) g (@) : | S 3
64.  Find out the incorrect sentences.
A)  Accumulation of lactic acid causes muscle pains.
B)  During day t1me the rate of respiration is higher than photosynthems in green
plants.
C)  Mangrove plants respire through aerial roots.
D)  The diaphragm relaxes to breath air in.
(1)  (A) only incorrect (2) (B) and (C) are incorrect
(3) (A), (B) and (C) are incorrect 4) (B)and (D) are incorrect
- | - Z GBSl
—e Gesfntnls b/ﬂ‘,t._,uﬂf (A
-_éf//JJ/JlV.Lbu’c_dfo)LJC/JJVJ"U»:U-‘-'._«G'JILU: B
- d'. u" L/a.uﬁu:/" db’l.»’r.‘i:ﬁ" (C-
e bt ol Bl e A ©
cHOHB) @) PSP )
| IEED)AI(B) (4 _ EE(CY)HI(A),(B)  (3)
65.  Identify the correct features of arteries. '

A)  Blood pressure is low in them.
B)  They originate from heart and mostly supply oxygenated blood to body parts.
C)  Their walls are thick with valves.

. D)  They can retain their shape, even when the blood flow is absent.

(1) (A)and (B) | (2) (A),(B)and (C)
() (A)and(C) (4) . (B)and(D)

QTSP ATy
~< t‘f{: Ls Ku:”u-‘.' oL (A

-u*a__/(‘l/uff fu:»& IG”}/C_-(JJ,./ B

Ut mnr s JJ'(}J"JJUJJU' (C a

S fes ot L,J’u*d’ yr/u’ $Ll g (D
C)~(A), (B) (2 B)s(Aa) (1)
D)#(B) @) . . ©)»i(A) ()

V-Biology | | 11-E
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66. When we touch the leaves of Mimosa pudzca they are closed? This is an example
for . - | . . |
(1)  Phototropism : . (2) Chemotropism
(3) Thigmotropism (4)  Hydrotropism
| -§_dl’>J . i ,«-u‘ d.-by‘ya»’u*z_)ﬂ?iafﬁﬂﬁmosa pudlca f —
I G W5 Sy ¢ R
7 _ u-?Jh..«’ ) ('l’higmotr(')p'ism)..f,.PJu)| 3
. 67.  Identify whether the given statements are true (or) false. -
A)  Many plants synthesize secondary metabolites and store them in it, to protect
. from herbivores. |
B) Oxygen can be considered as a waste product in plants durmg photosynthe31s
(1)~ (A)istrue - (2 (B)istrue
(3 (A)and(B)aretrue - (4) (A) and (B) are false - ‘
- Y wuwwé}:éu
_£LM¢.U:J?._/L«,J/ bt S Bkt L e il @A
- LﬁlaL.ul //»béwl.yb:(gflebd_:’Jbu' Uy U’JJ)LJJ'& = B
e o PR INIRC
@R @ - ubee o)
68 . Blood capillaries were discovered by- o - J
(1)~ William Harvey . (2)  Marcello Malphighi.
(3)  Stephen Hales (4)  Girolamo Fabrici -
o _mo,z_ﬂ (Capiliaries) =l ~00p
U{IL}J"JL (2) - 4_311('{5 n .-
Girolamo Fabrici™  (4) - Stephen Hales  (3)
69.  Find out the correct natural pest control methods in the organic farming.
~ A) ©  Spraying organic oils B)  Introducing natural predators .
) Using chemical pesticides D)  Crop rotation and Mixed crops
(1)  (A)and (C) (2) (B)and (D) |
(3) (A) (B)and(C) @) _(A),(B)and(D)
Zf(j)vUJUﬂ}iLLLJ’b/UJ///J)‘[’dJﬂJGJ&/KdVL
b Sl PEGE (B g Edet @A
Skl © Jeelo 0L (C
‘ - DB 2) BN (GZUCYENCY

(D)sI(A), (B) (4)A ' C(©) A (A),B) (3)
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70.  Which sexually transmitted disease is caused by Bacteria? :
- (1) AIDS © - (2) Chickenpox (3) Gonorrhoea (4) Typhoid
- -LU)[dJVJWJ’JLﬂJM&J)LL/C
_ (Typhmd) 7@t (4) Gonorrhoea  (3) Chicken Pox  (2) AIDS)UA (D) i
71.  Match the following. :
A o S B _
1) Cytokinins a) Elongation of stems
i)  Gibberellins 'b)  Seed dormancy
iii)  Abscisic acid T c) Ripening of fruits
.iv)  Ethylene a d)  Delay the aging of leaves )
R o | Wiz
: B . A
LJJ paal (a c)::! Kﬁg: (VO (l
FUuE b U
uﬁfuﬁf C 2o (i
prstbenrdon e w
(1) (©-d, (iD)-a, (iii)-b, (iv)-c 2 @ d (i)-b, (ii)-a, (iv)-c |
(3) ()b, (i)-c, (iii)-d, (iv)-a - (@) (i)-b, (iD)-a, (iii)-d, (1V) -c
72.  Assertion (A) ' The penpheral part of brain has white matter.
Reason (R): Nerve cell bodies and capillaries together form white matter.
(1)  (R)isthecorrectexplanationfor(A). (2)  (R)isnotthecorrectexplanation for(A).
(3) (A)is not correct. T (4) (A) and (R) are not correct. ‘
' ' -c.t'y'utwu” d?uL;éCL: (A) §%
| g Sl LS R
J@)eealasb®) (@) Cd@eeeb® Q)
- HUMmRAIA) @) | < Hi(A)  (3)
73.  Cocaine is obtained from - plant. '
(1) Cinchona (2) Tobacco (3) Opium (4)  Coffee
- , ) _LVIJ‘ lm:_a_.»’ u.‘:g(
Coffee (4)  Opium (3) Tobacco (2) Cinchona (1) -
74.  Colostrum is essential to improve in infants. '
(1) Blood circulation ' (2) Immunity
(3)  Respiration rate _ (4)  Excretion ‘ -
, _cc-_t‘:fd»/z’ColostrumiLLlw*/. ' ufé'-_og’i)) _
(Immunity)esrl  (2) , ghasbs (D)
LA (@) A LAV B
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75. ° Which accessory excretory organ 1nvolves in the excretlon of excess salts of Calcium,

Magnesium and Iron?

(1) Largelntestine (2) Lungs 3) Liver - (4) Skm _

| B A1 PR W e AL s
b @ @ ems (2) RGO

76. .Fill up the blanks. '
| ___(a)___ located -outside the abdominal cav1ty within a pouch 11ke structure.

__(b)_ are produced in__ (¢) . by me1os1s Later they are stored in
__(d__.

1) (a)—Ovanes (b)-Ova, (c)-Fallopian tubes (d)—Uterus

(2) (a)-Sperms, (b)-Testis, (c)-Epididymis, (d)-Seminiferous tubules

(3)  (a)Uterus, (b)-Ova, (c)-Ovaries, (d)-Fallopian tubes '

(4) (a)-Testis, (b)-Sperms, (c) -Seminiferous tubules (d)-Epididymis -

é/:(uf‘;dlp .

S (o) il (b —pibel -a u*_,ow(f.i-t.ﬁf |
' _U‘A_lpéof.uf ,;U*A?’-LJJZ.

(Uterus)d <(d) W (c) ez (o) b ~@ ()

gt -(d) s —(0) &I -(b) &t -(® ()

W @ b ~(¢) oz ~(b) «(Uterus) @) ()

Gt Ad) EtbaS o)ty () I -@ @

- 77. Inwhich phylum excretory organs first time appear? '

(1) Protozoa (2) Platyhelminthes(3)  Annelids - (4) Arthropoda .

1 L Tz SESG lﬂu’("b v

_ l»’:/‘ﬁl | "4 i (3) .:iw._.&; 2) lu;‘;/ 1) .

78. . Expand TUCN - | | |
(1) Indian Union for Clean Nature

(2) Indian Union for Conservation of Natural Gas

(3) International Union for Conservation of Nature
(4) Intemational Union for Clean Nature

- ALy ()
ufgqizlLLMLJf dip @
2 MEFL S (3)
LIS L= ple @)
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79. InwhichmodeofNutrition that living organisms obtain their food from the dead and
decaying organic.matter? o '
(1)  Autotrophic Nutrition (2)  Saprophytic Nutrition
(3)  Symbiotic Nutrition ~ {4) Parasitic Nutrition
| RPNV g W FRCEINVY AP w‘rwpw_f
558 @ LI5S )
o | S @ A 6)
80. 'Identlfy the renewable energy resources.. :
A)  Fossil fuels "~ B)  Solar energy
C)  Wind energy D)  Nuclear Energy
(1)  (A)and(B) (@ ®B)and (©)
(3) (B),(C)and (D) (4) (B)and (D)
| | o gt UJJV;&&W».«?’JL’
Juis” @ S A
dedgez @ Suife (.
©~B) (@) Bysl(a) 1)
D)4B) @ D)#I(B), (C) ()
81.  Match the following.
A ‘ B
Y Amoeba a) Pulsatile vessel
ii)  Hydra b) Gastro vascular cavity
iii)  Earth worm c) Brownian movements
iv)  Cockroach d)  Pulsatile organ
| -
B . A
Sy @ b
g J Esbar (b L (i
=J7 &3’ (4 (c -”f.-"/ (iii
| R V7 | G
(1) (1)_b> (ii)"as (iii)'d: (iV)-C (2') (i)-C, (ii)'as G‘ll)'—bs (iV)"d
(3)  (i)-c, (ii)-b, (iii)-a, (iv)-d @) ()b, (ii)-d, (iii)-a, (iv)-c
V-Biology 15-E
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Flnd out the correct sentence/s
A)-. “Niche’ denotes animal’s position and mode of lif¢ in the food web
B)  ‘Pyramid of energy’ denotes the flow of energy from consumers to producers
(1)  (A)is correct g ’ (2) (B) is correct
(3) (A)and (B) are correct : (4) (A) and (B) are incorrect | |
| | | gt UJﬁ(’f
_Lr/ 7 uf&.u}»m;rw&ulfu‘waUJ (Niche) IFE . (A
ety wﬁuédtlyiu,M e FAAEST (B
| 4-,5’(3) ® B o
SE®SA) @ eG®w )
83, Fill up the blanks. | - - e -
By (a) process plants absorb water from soil through __ (b)___. Later water
. moves ﬁnally to Xylem cells. This continuous accumulation of water creates -
(o) It helps to move water upwards continuously in plants
. (1) (a)-Root’ hairs, (b)-Root pressure, (¢)-Osmosis '
(2)  (a)-Root hairs, (b)-Osmosis, (c)-Root pressure
(3)  (a)-Root pressure, (b)-Root hairs, (c)-Osmosis
@ (a)- Osm051s (b)-Root hairs, {(c)-Root pressure
' ' ..éxfu:ﬂgdlp
u:lnu‘pdbgil u‘&./_wz’_ué (b) dL:_—u‘JK_»’ZL/JcCJF
-‘L.lf.lfGJuJ)’J{_’J’)( dgﬁ.:‘:_bnbg. () -a.é_.yd’bJ’V LGLZ,)JF r_t:m)’bu'“
- st sur-m diz-@ O
$L57-(0) Gl Jiz-@ @
eh(0) W7-(0) FbZ-@  (3)
Sla7-(0) Wiz-() LH @ @)
84.  Percentage of Oxygen in the exhaled air is | ' '

ey Kﬂw(sxhaled Air) 5225
() 78 @ 2t (3 16 4) 44 -

V-Biology - ' 16-E
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85.  Fill up the blanks. |
- Drip irrigation can‘reduce the water consumption by _ (a) . But unfortunately
“only ___(b)___ of cultivable land around the world is irrigated in this manner. _
| - . -J);)[gdb :
.L;::_.U"'iua ¢.Lgbbrﬂ'/JJ dL (@ e Je L (Drip Imgatlon) ST 6
| e QeSS e B A NS ISR (0)  SASA
1) (@)-70%, (b)-2% - (2)  (8)-90%, (b)-5% ‘
o (3) (@)-50%, (b)-2% . 4 (2)-60%,(b)-1%
86.~  Pollen grains of which plant cause asthma and skin allergy?
(1) Basil ' (2) Duckweed
(3) . Parthenjum, (4) Hibiscus
..u*L._x KAsthma YNy, dj.lfcbay&:g»’ 2f
Duck weed  (2) ) - . UJ (1
Hibiscus (4) © Parthenium  (3)
87.  Identify whether the given statement/s True (or) False. '
A)  Placenta provides nourishment for the developing Embryo.
B)  Acrosome produces the energy for the movement of sperm cells
(1) (A)istrue 2) -(B)istrue ~
3) (A)and (B) are true (4)  (A) and (B) are false '
| e s et s
_.,Ld/('l/wfu" (Placenta) .~ (A
-/_'_ 61 ydLl:’iL b/]d/ LS Acrosome (B
E® @ s o
| CUIE@)IA) ) - u’f B)2(a) ()
88.  Breakdown of Glucose molecules into Lactic acids reaction occurs in
part the cell. \ ‘
(1)  Mitochondria S (2)  Chloroplast
"(3) Nucleus ~ (4) Cytoplasm
’ & w M . b & .
| Lt S 2 L e Je UL E
sk @) T AR )Y
ASE @ oy
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89. Match the following. S

i)  Tannins - a)  Adhesive agent
- "fi) ~ Resins. N 'b). . Rubber '
iii) Guims | ' . ¢)  Tanning of leather
iv) - Latex , . d)  Manufacture of Varnishes ) |
MO S O W
| B R A
Adhesiveagent (@ . | e
. o b . v G
CSHde £ A i
(Pl (d- | (Latex)essy  (iv
) @), Gi)c, Gi)a, )b (@) (@), (iD)-d, (iiD)-a, (iv)-D
@) ()b, Gi)-c, (iii)-d, (iv)-a @ (), i), (it)-d, (v)-b

90. Fill up the blanks. -
In flowering plants, during sexual reproduction, one of the male gamete fertilizes
~ _ with __ (a)___and forms _- (b)___. The other male gamete fuses with the
__(¢)___and forms _- (d)__ . This called double fertilization. |
(1)  (a)-Secondary nuclei, (b)-Zygote, (c)-Egg cell, (d)-Endosperm
(2) (a)-Egg cell, (b)-Zygote, (c)-Secondary nuclei, (d)-Endosperm
(3) (a)Eggcell, (b)-Endosperm, (c)-Secondaty nuclei, (d)-Zygote
(4)  (a)-Zygote, (b)-Endosperm, (c)-Egg cell, (d)-Secondary nuclei ' R
| | : ) -:/j.;:{)ﬂédl}
e bl (0SS () o LT Uy A
_uj.%_"/ d'{ul,d/;».:;l_q_ tbe  (d)__ M
Fuin(d) sbdi(c) 20 0P8 - ()
FUss-(d) @A P57k-(c) =2-(b) ofodl@) ()
2 -(d)o S Q) (fUs-(b) drnkia)  (3)
o SpSFd) o b-(0) (fUsn-(b) 2-a) (@)

91.  Themostpoisonous waste product of all the wastes produced in our bodyis

(1)  Carbon dioxide - (2) Uricacid
- (3) °~ Ammonia _ (4) Bile pigments
—e ool il inskie u»LMGLl:L:fl{-;.uf()L_JL@ :
2oy @ 0 STk ()

Bile pigments  (4). _ -k (3)

- V-Biology 18-E
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92.

Modern artificial propagation methed is o '
(1)  Cutting (2) - Layering (3)  Grafting (4)  Tissue culture
o e B AIAE s s
A @ ukx » W o o
93.  Match the following. - ‘ ' ' '
- A 4 — B
i)  Inheritance of acquired characters a) - Charles Darwin
ii)  Natural selection - b)  Charles Lyell
iii)  Population theory .. ©) Lamark
1v)  Principle of Geology N d) Malthus o
o I o ,-._u*w;:
B - g
ol @ J”J..,uf’auf G
St o =R
- N | L Gii
. . u"”i (d el Gy
(1) ()b, (i), (id)-a, (iv)-d - (2) (), ({D)-a G)-d, (iv)}d
(3) (D-c, (i)-b, (iii)-d, (iv)-a 4 (D)-d, (ii)-a, (iii)-b, (IV) -c
94.  Assertion (A) : Carbohydrates are not digested in, the Stomach.
Reason (R) : HCI makes the food acidic.
- (1)  (®)is the correct explanation for (A). .
(2)  (R) is the incorrect explanation for (A).
(3) Both (A) and (R) are incorrect.
(4)  Only (R) is correct. _ :
- _A.!'u”’(” u‘wur'mgm (A) df;
| : -Lb)b-'(f/)/ IZHCI : (R) 2
u (A)a.u?i.ablc(R) @  {@ecolses® (1)
O ®R- @ | e bu®)AIA)  (3)
95.  Which pair of factors- represent the dommant and Homozygous tall character in the
© given table?
o ~§<Lfﬁﬁsbgﬁ{,‘;'ﬁ'3f ie("f'—"u"fw %‘JL"U:LJM?J:"?')
T [TTTt
tfT |t
(1) TT @ Tt  -(B) (T @

V-Biology . . 19E
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.-9.6." - The female gametophyte of the flowering plant is
.~ (1) Egg cell (2) Zygote  (3) Embryo (4) Embryo-sac

. _./-_U/(Female Gametophyte) Haissb 4..:!/&:”

| J”f u’P @ E B @) . Lk ()
97.  Which is not a parasme‘? : ' ' R
- (1) Leech (2) Tapeworm (3) Cuscuta - (4) Mus_hroom . :
S | | I | -é-ui‘*'d’befa-u-fcﬂ o

p/‘ 4) - Cusouta (3) Tapewarm (2) = Sz 1)

. 98. . Assertion (A): Genetic drift provides diversity in the populatlon '
Reason (R):  Variations in the population may happen during sexual reproductlon'
and DNA copying errors. .

(1) (R) is the correct explanation for (A).
~(2)  (R) is not the correct explanat1on for (A)

(3) (A)iswrong. _
- (4). (R)iscorrect. '

r - ,LuJLchu*d;LTsw" (ANSH

g E il b 2 EDNAMIIS G R
W bub® @ J@eerbb® (1)

cE® @ e 0

99,  The given dlagrarn mdlcates
- (1) Bark
(2) Lenticel .-
{3) Stomata -
(4) - Pneumatophore

Y7
VAR ON
‘ Lenticel . (2)
" UL E))

" 'Pneumatophore _ (4)

100. Who proved that the spinal cord was alsoa control centre along with Brain?

A) * Charles Bell : B)  Francois Magendie
C)  Leonardo da Vinci . D)  Stephen Hales
(1)  (A)and(B) (2) (A)and (C)
3) (C)and (D) 4) - _(A)and (D)
S Wbl ,c_&b’d,/fd,«gfwmw;véw
- 'Froncois Mogendie (B (Charless Bell) J qub (A
Stephen Hales (D . Leonardo da Vinci  (C

‘ '(D)J"(fsf)" (4) (D)Js'(c) 3) (C)Jé'(A) 2 By d)-
V~Biology - K 20-E | ' o
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101

PART - III : PHYSICAL SCIENCES

V-.P'hy.S_ciences 21-E

If A, B, C are under thermal contact then in which of the followmg condition heat
- will be transferred from A to both B and C. - ‘
(1) Temperature of A, Barelessthan C (2) - Temperature of A, B are more than C
(3)  Temperature of B, C arclessthan A (4)  Temperature of B, C are more than A
d/glafd' G u:’»CJJfBa.—A._ul}u" Jbgﬁ-__u‘ J’ St i B8 CJJ’B‘A/
(lsmlie CHE BA () - glnfecHiSBA ‘(1) -
(Lme AGESCB @) finfenrtilcn
102. | Material C A B C . D
Specific heat in cal/g-°C| 0.095 . 0.115 - 0.21 0.031
From the above table which one of the material has more reluctance towards change
in temperature _
D - CcC | B:- | - A £
0031 | 0.21 0.115 0.095 jcal/g-°Cdeit? |
| te b8 (Reluct_ance)wl;fc‘_—(.%.fdftjgd/ &iﬂ%bﬂrfh’;&guyejp o
1) A (2) B @ ¢ - (4) D |
103. Do'gs- panting on hot days the basic physical phenomena in it is .
(1)° Evaporation (2) Condensation(3) Freezing (4) Melting
e u/m»du:o’;u;ffu*uuz_yéu*uy;f/
@ A @) ) N S ¢)
104. 1 calorieis equalto® = . Joules. ‘ . B
' L L -A:'_UJL"‘LLJJ? , : d):.b.rl
(1) 4.186x10% (2) 41.86x103 (3) 4.186 (4) 4186 x 103
105.  The heat energy required to change 10 g of ice at —~10°C into water vapour at 100°C
' is (at 1 atmospheric pressure) o
(1) 7250 calories - (2) 7250K calories
(3) 9250 calories (4) 9250 K calories
ST L8 S g (Water Vapour)e 371000/ e 10»7,0 ~10°C -
(/JLJLB’G/ 1) Jf (Heat Energy)’
S 7250 () e s )
S+ ¥ors0 @) C6 9250 (3)
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106 The value of latent heat of vaporisation of water is

(1) 540 calories/gin 2) . 540K cal’ones/gram
(@) ~ 80 calories/gm | (4) 80 K calories/gm
o~ - ‘ i u’dl (Latent heat of vaporlsatlon of Water)qu]d; Jublf.«idb
540 K calories/gram  (2). 540.calories/gm (1)
’ 80 K calories/gm (4)‘ - 80 calones/gm (3)
107. Thevisiblecolourpartofeyeis ' . '
(1) ° comea (2) irs 3) retina (4) agueous humor
A C T e ,?M s
wrigu?T () (Comea)2/- (1)
~ (Aqueous Humor) . e (4)

(Retina)ew=s  (3)

108. Real i nnages are always .

(1)  can be traced on screen, erected (2)
(3)  can be traced on screen, inverted 4)

can’t be traced on screen, erected
can’t be traced on screen, inverted

aded®

CClaU/u’{ J" lv//_J/cc.b'J’lﬁw" Q2 LCﬁbUU" by ey twlog (1)
l;lalfu’{ J’ la//_.:/cr_t'ru’;é" @ . Llﬁlplfd" la./é.)/<¢_t'fu36"
: 109. Mirages formed due to
; (1) Dew- ‘ (2) Fog
(3) Total internal reflection (4)  Scattering
' _ _u*a_.l,yc;;;(f/ (Mirages)! a
. Fod . @ ey (1)
(Scattering) G+ (4) . J @’L}V’JLF (3)

110.

Whlch letter represenls angle of deviation in the above diagram?

1) K 2) L and N

©))

M 4) P

~et. yVJ(Angle ofdcv1a110n)qfl,.a:lzuiu:(u"£laUL;JM

P @ M

()

NAIL  (2). K @
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111.

B \u A
Hp 2 ' ‘
| | F\SJ . B
o Ha _ t‘\
. C

- Refractive indices of A, B C are Kis Hos K3 respectlvely Ll = 22, 43 > /4, then

which of the following relation is correct?
/JU}C‘;U‘J};}MUU"43 > L4l L1 =22 _ t, pz, 3_.»//LV;.JUvJI¢‘_/. A, B, C

ey
(@) 7 py=pg b =g @ - m=papy<ps
(3) Ml Mo, M3 < g 4) W= uz<p
112.  Anobjectis placed at 20 cm before a biconvex lens having focal length of 10 cm. Then 1t’
- image formed from the lens.
(1) atl0cm (2) between 10 cm and 20 ¢cm
() at20cm (4) - beyond 20 cm o
» &;_u’dw.»;u@/ /abé/'zozi ch.ﬁuﬁi/»LbJ)’(fL/IO
uuj;.):/zom/w 2) 410 (1)
fabuw”c./zo @ | £F20 (3)
113. A glass slab of thickness of ‘t’ and having refractive index as ‘w’. If it is kept in the
path of light ray. Then the shift (Ax) of ray is
d}f‘f&bf/!._lplﬂru"QIJLCWJU?JJ(QJL.«——“JLHE:JVQUvJF‘p’leLleL:’ t’
| o = (shift) Ax
. ' 1 1 ' '
o LY e () o wy @ wo
114.  The power of a convex lens of focal length 50 cm is D.
. -Jy‘ | D (Power of Lens)u’u:(fa_ﬁé.éa_ﬁuﬁi_bdﬁf LA50
m s @ 50 ® 2 RORE:
115. Which one of the following w1Il have the cho1ce to be the wave length of violet
colour in VIBGVOR? ‘
wq/_,wfnd,uéard,bi E(violet) L (Vibgvor) e Ut L 3o
(1) 7900A - (2) 6000A (3)  4800A (4).  4000A
V-Pliy.S_ciences o , 23-E
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116. The image of OO forms ___ . ~ . | o - a
v AF I 1
(2) ‘AtF2 | | , - - O:, . .
(3) BetweenF,, 2F, - 2R K Fa ?Fz-
(4)  Beyond2F, ‘ ' ‘ Yoo
S U Eifly - JpFo0
T e ) )
10 ' o - I : 4
B | (B O
oF, F, | R 2R = "2
. 1 _L’)L{'JJLZFZ JJ’F2 (3) .
: \ . :
I T o e 2F,

- 117, 2Q2,.3Q, 4Q) are connected in series then the resultant re51stance is

Jyd,l,»d’mu_deJy(Senes)Jf—L(-uwg 3Q 20 o /Lumfu’w" Ja84

(4)-’ '

@3). .

| R ARGS
(1) 19 : (@) 99 (3) 139_ | .("I') 1—29
118. S.L tnit of Electric Current (i) is o
(1) Ampere " (2) Ohm 3) Vol;c- © (4) Hertz .
' - ~< (}KISI.I.J (i)(Electric Cu,rren_lt)u.d/.
©hmys (@ (Ampere) £ (1)
(Hertz)rrs (@) ' n (Volt)..‘)u

119.  Which of following represents ohmics in graphs‘?

_c._l:‘/d/y VJ(OMICS)PL"HGI(J’/)(/LJ[LJJJ,?JM.

vV—

V-Phy.Sciences 24-E
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120. The resistance of a conducting wire is R. What will be the resistance if it’s length is
doubled and area of cross section is halved?
_Cnfesipd] iy S TR st 150, »(Jﬁé J”m’ﬁ_uJ /'R'
(1) 4R @ %R (3 R @) %R |
121. Electric Power (P-) = _
| =P (Electric Power)=2b 4
\&! v . PR 2
1 Lo 2 (3 - 4 IR
M < ® 6 = @ |
122. Tesla means :
' ‘ (5% L Tesla
' Wb 2 . W
(D oz _ (2). Whb-m 3) o 4) Wbm
123: Which of the followiﬁg is not an application of Faraday’s law.
' (1)  Incandescent bulb (2) ATMcard -
(3)  Head in Tape recorder (4)  Induction stove .
' _4"..(}‘.‘"’0115!_(0:7 6L (Faraday's)e 312 L»’:':::,JJ. Spr ks
eIl () gt (1)
| W= I () Y 3 719/ ) I )
124. Magnetic field force on a charge, moving paréllel to the magnetic field (6 = 0)
o 1 ® @ 4 ' (4) Infinite
€ /iKuwu’J’ LwJLd/Luz._/_/C?(e 0) (Parallel)dﬂr"ﬁulﬂgﬁb (%2
»MU (4) -1 (3 0. () 1M
125. .The enlarged form of rms (In EIectromagneUsm)
& ;f’ & :‘J rmsu* (Electromagneusm)u_«r‘!’l#d/
(1)  right mid square (2) root mid square

(3)  right mean square (4) root mean square

V-Phy.Sciences 25-E
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126. Read the following and choose correct option. Select common properties for both

Acid and base from the following: N -
- a) Reaction with metals produce Hydrogen gas.”~ .
b) Reaction with metal Carbonates produce Carbon dioxide gas.
c) Conduct electricity in aqueous state. - : :
d) . Colour will change with phenolphthalein indicator. = .
(1)  only (c) is correct , {2) (a), (b) are correct
(3)- (), (c) are correct , (4) - (a), (b), (c), (d) are cogrect

- /(u;” fwyﬁf}ﬁ'éufuu’ UoAusl® Fee J: il [ /..,.al?;'l'lﬁ.,.«lﬁ sl 2:0; IOV |
. | /-l:/bg,:‘/u’-(u’wjﬂc;gjlﬂ"jv&uglm (a -
‘ tﬁ&fuf:glw TS S L a6l (b

Srdasededl (e
o/ 4 6L Phenolphthalein) e W (d

1Eun®) @ @ e ear O
HE@OM@ @ . gus©@ 6

127.  'Which of the following will produce acidic salt on neutralization with HySO4

- - ,fz_/(fj._.r_, Ju: 7 (N eutraliza‘tion)d‘ GJUE 3 @LHgSO;; uf.:'_.ufg_): sk

() HCI () CHCOOH (3) HNO; (4 Mg(OH)
128. On adding few drops of universal indicator to three unknown colourless solutions

(X), (Y) and (Z) taken separately in three.test tubes. Tulasi observed that the:
changes in colour as green in (X), red in (Y) and blue in (Z). The decreasing order

of pH of the taken solutions is -

44‘-/ J G /’5.»?. L(Universal Indicator) f"‘ JUTJIZAI YX u:J:V...fJ{_ nﬁ(}l’” ¢ u{

oo pHEUIFL £s it e Tl S e XS oueed_(Tulasi) 5™
. : L ' Y gy
() X>Y>Z () Y>Z>X (3) Y>X>Z (4 Z>X>Y

129. * Identify the incorrect statement from the following. ,
(1)  Universal indicator is used to know the strength of acid or base.
(2)  Asthe pH value increases from 7 to 14, concentration of [H*1ions in the solution
increases. ‘ .
(3)  Higher the hydronium ion concentration lower the pH value.
(4)  pH value of a solution is less than 7, it is acidic in nature.

Sk bl U 5T

e b L2 LB E 5 (Universal Indicator) A0 ()

3NN oy WP 4 AN AE T SpH @)
| _d/fs U/ J:J;’d/ pH:f_,J Lo AL s, (H") -ui,f'i 3)
~e i:'ﬂ(j")’d:'iu;’nf;..%ﬁ(fpl-l J# (4)
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130. Find the wave length of a phbton in nano meters with energy of 3 % 1012 erg
‘ (h=6.6256 x 1027 erg-sec; C =3 x 108 m/s).
L L3x 102 erg. (}wJu’_épbfu’:nano meters 450 &34 (photon)y/e?
| (h=6.6256 x 1027 erg-sec; C =3 x 108 m/s).-
1) 662 = (2) 662 3) 1324 @ 662

131.  Choose the correct set of quantum numbers of the dlﬂ'crentlaung clectron ofa
neutral calcium atom.

..u’ /u..»ls‘l KJ ({ K’.ﬁ’d/) Gaaslo lag (leferentlatmg Electmn)ul/( G’fé:/'i({; J’ p’-.f

1 .. -
§eY) n=4,l=0,mL=1,m's=+E 2) ”=4J=0»"'L%0=m,=—%

(3) n=4I=0m =0m =0 - (4) n=4l=Lm =0m =——

132. Wh1ch of the followmg pair is not containing equal number of electrons?

-c'_.u"'{ djb':lp’({u” /ﬁ ufz_u"(f( c.uflf EEYY

1 N5,07 (@  Na, c“- 3 F, AP+ @ M, 0*

133. The electronic conﬁguratlon of an ion AZ" js 2, 8, 14. If its mass number is 56, the
~ number of neutrons in its nucleus are

B! uw;fyu"é,)}éJuﬁz.sswgfwmum 8 2, A2
1 3 @ 4 @ 30 @ 56

134. Three elements P, Q and R have atomicnumbersZ, Z—1 and Z+2 rcspectlvcly Pis the
noble gas. The formula of compound formed between Q and R will be

JWA:R/:IQ_au’f(J:’)uL’{J P Z+2 8172 ZoE Plasifp 2L RIQ PR
N (Jns),ubvuﬂj-Ll,LxJ’b;.,
(1) QR 2) RQ2 ~ (3 RaQs @) QR;

135.  Which of .the following metal was not placed in the cighth _group of the modified
Mendeleev’s periodic table? ’ . :
(1) Sodium = (2) ' Nickel (3) Platinum (4) Iron

_lflaru’"’ i u3/J #L J:pd;myd J/JJ}”J(@{PJJ( s J,:auw
Y@ Ao foo M
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- 136.

How many of the followmg statements are not true regardmg long form of periodic

‘table?

a)  Phosphorus is the only non metal in 15th group.
- b) Elements in I, group are metallic in nature. .

¢)  The metal present in Chalcogen fam11y is Tellurium. ' '
d) . Halogen group is the only group.in the periodic table (long form) W1thout any
| metal present in it.

..u" S Jj}u—duféd.—ub J’ JZ/J)UUV c:..(Long form of Periodic Table)d:xdjﬁ:/d s

_4.‘_)’1:”%...»(.@)/’»1:()*;./3/(,}'315 (a

| i fmedirel o 1, b

| " - Tellurium ul.:wiru' O la(Chalcogen)u’ :6 b (e

| _au” i’r‘ulmdfu" U) _.:'_.u:/:.vlm quaLSJ»/J )’....d/ (Halogen)(/* %) (!

1 - 1 ‘ 2 2 ) 3 - (4) 4

137.

The elements A, B, C, D and E having atomic numbers 9, 10, 11, 12 and 17.
~ respectively, then the i 1ncreasmg order of atomic radii is

(Atormc radu)u)ﬂ’..n»dd/i!u‘lbﬂlz <1110 c9._.w/Lwd/iA:E 41D :C B :A/"V ‘

| i
(1) B<A<E<D<C (2) ‘__B<‘A<E<C<D ‘
(3) A<B<C<E<D . 4) B<A<C<E<D

138.

Number of elements pfels'ent' in the second period of modern peri'odic table

- , f )L&;J Yol [:?)ﬁ-?uf»j ﬁ- (an)/_ /»L Jug LEJJJ,};A?
1 2 @2 8 (3 18 @) 32 .

139.

Formula of a Metallic oxide is MyO3. The formula of its phosphate will be

_{J" J»Lagw"'”bé.éulmu’l_r_MZO‘beLa(nyl dbﬁgylﬁuo,( B

(1Y MpPO, - (2) MPO4 (3)  My(POg; () . M3(POq);

140,

What is the covalency of Oxygen atom in water molecule?

d/fM(Covalency)d/&fﬁulﬂlv&dl, \

(1 2 2 4 () 6 @ 8

141.

Which of the following i is an electron deficient molecule?

-<(Electron deficient molecule) 4 L/Ul:&)/ U/UJ ’/‘6 L J EE ‘.

(1) NI (2) BF, G) CHe . (4 HO0.
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- 142. The electronic configurations of four elements A, B, C and D rCSpectwely 152 232
2p6 352 3p5, 152 252 2p6 3s2, 1s2 252 2p6 3s! and 152 252 2p4. The formulae of
ionic compounds formed between these elements are

152 252 26 351152 25 2p6 352 ¢ 152 252 25 352 3p5 2 A SE U A0 J DAIC B :A/lf;b

-(jfcwa.uccwLr(/'(IOHIC)d’JJL_’Jﬁ_-L‘J&"JJG‘:L‘}L% 152252 2p*al

) (1) CA,AB,,C,D,BD . " (2) CA,,BA,, CD,, BD
3) CyA,BA,, C,D,BD ' (4) CA,BA,, C,D,BD
. 143.  Match the following.
| Ore - ~ Metal
- A)  Pyrolusite . 1) Magnesium
B) Magnetite : ii)  Sodium
C)  Lime stone : iiiy  Iron
D)  Haematite iv), Calcium |
' . V). . Manganese |
IR S
(Metal)ue by | (Ore)lo s |
AN P (A
I TR
oA @ gHIA (C
2 iy ' 2l (D
| - #
(1) . A-(v), B-(iii), C-(iv), D-(iii)
(2)  A-(iD), B-(i), C~(iv), D-(ii)
(3)  A-(v), B-(i), C(iv), D-(ii)
(4)  A~(v), B-(i), C~(ii), D-(iii)
144. Which of the following metal displaces Hydrogen from Cold Water?
- (1) Zinc ] (2) Mercury
(3) Caleium - : 4). Aluminium .
C q.:;(}lch;d&é_ﬁfu?uﬁf@awd‘fcufd Sos ke
sk (2) | £ )
@ X ()
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. 145. Arrange the following metals in the increasing order of thelr react1v1ty
_ - Zinc, Mercury, Gold, Iron, Calcium, Sodium ..
(1) Gold <Mercury <Iron < Zinc < Calcium < Sodlum
(2) . Gold <Mercury < Iron < Calcium < Zinc < Sodium
- (3) Sodium < Calcum < Jron < Zinc < Mercury < Gold
) Gold < Mercury < Zinc <Tron < Calcium < Sodium -~

...é:-.r/g)fuffd_!‘ d./ﬁ(Rcactmty) ..»J“lod/ ulfu:’ U»JJ }Z/J) :
(Jf’ rffg- (w7 5 (5)}’(/' ok
(JJ’>(’U \-{J>u1'>d})’(/>b’)’/ (D)
(Jr>..6>ﬂ~{’(>u/l>d,'//>,df Q).
Jf>djf//>_.6>u/f >(:~u>ﬁm (3)
(:r>(.f'-f(>uzl >_,6>dJ//>,Jf @)

146. Choose thc correct matching from. the following. -

S

i) CH 4+C12;"“£>CH3CI+HCI a) © Combustion reaction
i)  CH;COOH+CH OH—=%0, 'b)  Substitution reaction
CH,COOC,H; +H,0 | |
jii) C,H,OH+30,—>CO, +3H,0+Energy ¢) - Fermentation
iv)  CoHOp =t —>2C,H,OH +2C0,  d) Esterification reaction. |
- - : -Lqu@'.'KJVJJ)LU:(J:jeJF
Joor @ - CH, +Cl,—Smig yopcrencl (G
- Jdese o CH,COOH + C,H;OH —<-H1250s_, (i
L _ CH;COOC, H; +H,0 a
Jo S ¢ . C2H50H+302——>C02+3H20+Energy (il
| } J(;‘_.;’-'g 2 . C6H1206—Y°m——>2C2H50H+2C02 Gy
@ @b, G, Gida, (v)d @ (), Gi)-d, (iD)-c, (iv)-b
. @) ()b, Gi)d, Gii)a, (iv)< . @ ()b, (ii)-d, Gid)-c, (iv)-a
147. 'Which of the following is not an amorphous allotropic form of carbon'?
(1)  Graphite (2) Coal (3) Lamp black - (4 ugar Charcoal -
Lﬂ( (Amorphous Allotroplc)(ﬁ (,éwf i d)u’J r_~-u” Sionr
Sugar Charcoal (4) Lamp black ~ (3) Coal (2) Graphite (1) .

148. Whlch of the following chemical reaction does not take place inside the blast furnace?
' o _¢an dbuﬁ (Blast Fumace)o‘( g4 J l;’dl/‘/(.-‘:(a_.u"' J’ 3ok
(1)  ZnS+30,——2Zn0+250, - (2)  Fey0;+3CO——2Fe+3C0,
(3) C200,—>C20+CO, @) Ca0+Si0, ——>CaSiO,
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149. A compound ‘X’ formed by the reaction of alkaline KMnO, with the compound ‘Y’
compound ‘X’ also react with ‘Y’ in presence of con. H,S0, to form a sweet
smelling compound ‘Z’. Then what are ‘X, “Y’, ‘Z’ respectively?

(1)  Ethanoic acid, Ethanal, Ethylacetate
(2)  Ethanoic acid, Ethanol, Ethene

(3)  Ethanoic acid, Ethanol, Ethylethanoate
(4)  Ethanoic acid, Ethene, Ethylethanoate

1—/(/(_)* Ji”L}/HZSO,;LgL‘X’ u_fr/-é. by J}L[JULKMHO;LJV"X’ J}J

Sy X A x_a‘_trwz'_.// £ (Sweet Smellmg)dr,yd” LISy

e fla (o A (1)
uf L ST (2)
BN (JI dA G (3)
| e ABS B (7 ST ()
150.  Choose the correct matching. ' . o
i)  H,C-CH-C=CH" * a)  Pent-2-yne-l-oic acid
CH, o
i) H,C-CH,-C=C-COOH b)  4-Methyl Pent-1-yne
CH, )
| -
~iij) HC=C-CH,-CH-CH, ¢)  Hex-5-ene-2-yne
iv) H,C=CH-CH,-C=C-CH; d) 3-Methyl but-1-yne .
: ] _ _u/wlf'ngfu"J)
AL 1gl-2-25 (@ H,C-CH-C=CH (i
: |
CH,
Uboloas S 4 (  H,C-CH,-C=C-COOH (i
) ' CH,
e G - A
Pl-2-¢1-5- " ¢) HC=C-CH, -CH-CH, (i1
Uholozg K W43 d) H,C=CH-CH,-C=C-CH, V)

) (), (ii)-a, (i), (iv)-c @) (D)-d, (ii)-b, (iii)-a, (iv)-c
(3)  ()d; (ii)-a, (iii)-c, (iv)-b @) (i), (ii)-a, (iii)-b, (iv)-d -

00000
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